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1. In order for a solid rock to turn into sandstone it
must go through a sequence of events. What is
the first event of turning)solidfock iafo>
sandstone? (5.2.D)

braale Move dog
A. weathering, erosion, and deposmon

B. compaction and cementationpess <« give
C. melting and cooling

D. evaporation |, iQui d —~,u S LAexS
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2. Which picture best represents\.sedmentary rc:ckrf‘wJ
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4. The chart below shows how long it takes to form
different types of energy used on Earth. (5.2.G)

DIRECT SOLAR HEAT MINUTES
WIND HOURS
HYDROPOWER DAYS TO WEEKS
' BIOMASS [ MONTHS TO YEARS
1 FOSSIL FUELS: COAL, R o
OIL, NATURAL GAS D

Which answer choice would best(complete the-
Qchaﬁ‘?
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F. weeks

G. approximately 10 years .
H. millions of years Nonrerie
J. approximately 100 days Kenewab le
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3. Scientists agree that almost all of the energy on
Earth comes from the sun. Which answer choice
best explains how the sun tontributed to'the

gformat]on of fossil ﬁlélS‘P (3:2.1))

A. Fossil fuels come from ther remamggi:plants)
cand animals;” whlch gof their e energy fromvthe
S, QRS 3% J;:D) 2 =

B. The §un warms thé ocean;, which crgates:
(fossil fuels. Nezcl o7 I}x/z C nodxec

C. Fossil fuels come from different ngs_qf:%,r.
which is dried up by the sun.! M"*”’\ DAL WY

D. The sun heats up an active Vo' y; which
then forms fossil fuels. 7 Y\p&r\ A CANAL
' ey J’ﬂ&

5. The diagram below shows how sedimentary rock
forms in layers.

oldesh

Which layer of the sedimentary rock would be

con31dered the\__fdest layer?

A. Layer 1

~  B. Layer2

C. Layer3
D. Layer 4
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6. Students set up a model of the process that led to
the formation of fossil fuels. The materials they
used and the steps they | followed are llsted

below (5 3. C) J

GUMMY HEAVY
ANIMALS BOOK

PAPER
TOWEL

BREAD
SLICES

1. Layer three pieces of bread on top of each
other 1,1.}{’ N = ‘i/{ OSi B O [N

2. Insert a few gummy\amﬁl‘als betweensthe
dayers of bread. ¢ medted

3. Wrap the layers of bread and gummy animals

in a paper towel.

4. Place daheavy book on top of the layers-and

allow it to sit overnight.( oy pochon / presce

HANAC

What role does the book play in this model of
the formatlon of fossﬂ fuels‘?

F. The wgathering of rock
G. The ocean floor *
H. The natural process of pressure

J. Dead marine life 9\\./[‘"- m Znaonal b

8. The formation of sedimentary rock requires
compactlon and cementatlon Which of the

& compactlon and cementatlon%

r(ﬂ-\-,) ,/,____ |{\‘IJ ‘)3

E. Layers[o’f?gdlment ﬁfis—s_‘fzgi_éﬁer and
<harden’into sedimentary rock.

G. Weath\Ermg and erosion of large rocks form

sediment. it
H. Watercovers-a layer of sediment.
J. The<sun heats the top tayer-of the Earth.

7. Which answer choice bgsiﬁxplmns _what might
happen to swntary “rockAif it is exposed to.
wind, rain, and harsh temperatures over a Iong )
perlocl of([_lwme'? (5.2.D)

A. The weathering will break the rock into
sediment that w111 be eroded and deposited in
a new location formmg new sedimentary rock.
B. The sedimentary1ock willdissolve from the
wind, rain, and harsh temperatures. No? Sowa bl
C. The sedimentary rock will eventually be

the exposure of wind, rain, and harsh

temperatures. (4N + nnd pcdal roce

9. Students are given strips of paper with the steps to
fossil fuel formation.

1. (Organisms dieand are-covered:with
< 'ij@ of sediment.

2 M1Iho?6f years ago; organisms hved in

the ocean. = S

-
3. Enormous‘heat and pressure turn the dead
. L r———
organisms into oil.

Which answer choice shows tha’correct d of

¢
e /— -

rfomformatlon) G

A. 32,1
B. 2,1,3
C. 1,2,3
D. 3,1,2
10. How are the processes that led to the:ﬁ?rhﬁfifm:of

sedimentary rocks and fossil fuelsalike? (5.3.A)

TAWLTS Son Tk ) AV C ook 2l

F. Bothanust have £ossil® in order to form. oo«
G. Both have layers of sedimentithat are
compacted and cemented.

H. Both are created in a shért amount of time.,| ()]

J. Both need extremely@dﬁh‘é’nto form.
Wéok
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